
(a) START

set sum to 1+2+3+4+5+6+7+8+9+10

write sum

END OF THE ALGORIOTHM

(b) START

set n to 10

set sum to 0

add n to the sum

decrement n by 1

setifn>O

if it is go back and repeat the previous step

write sum

END OF THE ALGORIbTHM

(c)  START

setit

set sum to 0

repeat 10 times

add i to sum

end of the repeat loop

write sum

END OF THE ALGORITHM
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(d) START

set i to 1 f

set sum to 0

whilei<  10do

add 1 to sum

increment i by 1

end of the while loop

write sum

END OF THE ALGORITHM
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53 81 102

-601 0 80

15 9 102

u~~~~WI~WI~U~%~%I~~  a,b,c  WIIJ~~‘WY&~~~IQ~

(a) readln(a,b,c)

(b)  read(a,b,c)

(c)  readln(a);readln(b);readln(c)

(d)  read(a);readln;read(b);readln;read(c)
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x:=  1.23456

y := 567.89

z := 10

c := ‘$1

*(a) writeln(x,y,z);writeIn(c)

*(b) writeln(x:15:1,~:8:3,z)

(c) write(x:15);  write(y:15); write(c:3)

(d) writeln(x:16:4);writeln(y);writeln(z:l)

hihfi1x,y tmr z oiTTilo~~~nil~od~  100.

13. o,“~nlstt”spl~olpl~~~~,~~t~~~,~,~~,~~~~~~t~*~~~~~t~~~*

00200 while (zQimit)  do

00210 z:=x+y  {This will determine the next number

00220 in the fibonacci sequence )

00230 i:=i+l;writelm(i:6,z:15);

00240 y:=z;

00250 x:=y {This last two statements set up for

00260 the next iteration 1

00270 end;

00280 wrireln (‘end of the fibonacci sequence’);

00290 writeln (‘a total of ,i,‘numbers  were generated)

00300 end. {of fibonacci}

After giving the command to run  the program,the  computer 0

produced the following erroe  messages.

Pascal  program fibonacci

00471 00170 readln(limit);writeln(‘index  fibonacci number’);
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*** J O 4

000035 00180 i:=O; x:=1;  writeln(i:6,x:15);

***

000037 00190 i:=l;  y:=l; writeln(i:6,y:15);

***

000056 00200 while (z<limit)do

***

000057 00230 i:=i+l; writeln (i:6,z:15);

***

000073 00270 end,

***

000117 00290 writeln (‘a total of ,i,‘numbers  were

generated)

***

* * * premature of source file

compiler error messages:

4 :  “)“expected

6: illegal symbol

59: error in variable

104: identifier not declared

202: string constant must not exceed source line

(b) Upper triangular.

x9= 0 whenever i < j
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A =

B =

0 0 0

3 0 0

0 0 0

0 0 0

7 0 0

cccc . . . . cccc . . cccc . c = any alphabetic character

first middle last

name name name

All three names may be of arbitrary length and there will always be one or more

blanks between each name. The first and last name will always be present, but the middle

name may be omitted, in which case there will only be two names on the card. All three

names fit on a single line of 80 characters.

After reading in a name, print it out in the more standard

“report-oriented” format.
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ccccc, cccc c.

first last middle

name name inital

where ‘last-name’ and ‘first-name include only the first 15 characters of each. Additional

characters beyond 15 are not printed. The middle initial is the fust letter of the middle4

name followed by a I.‘. If the middle name is not present, this field is omitted. Continue

printing names until you come to the end of tile. As and example, the following input card:

Rebecca. . . . Allison. . . Schneider (. Means blank)

will result in the following output line:

Schneder,  Rebecca A.

17. ~961n~9~n~09n19~19lPdOln  Procedure @kr!dd \

procedure silly(x:integer;var  ykteger);

VX

zinteger;

begin

x:=5;

y:=6;

, 2:=7

end; {of silly}

4what I the output procedusr by the following three  lines?

x:=l;y:=2;z:=3;

W(y,x);

writeln(x,y,z)
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function dunno(m:integer):integer;

“ar

value :integer;

begin

if m= 0 then

value:=3

else

value:=dunno(m-l)+S;

dunno:=value;

writeln(‘current  value of m and value are ‘,m,value)

end, {of dunno}

what  output is produced by the following statement?

writeln(dunno(3));

19. What is the output produced by the following program?

Program rec(output);

Function p(x:real; n:integer):real;

begin

writeln(‘in p:‘,x:6:l,n:3);

if n=O  then

p:=l.O

else

if odd(n) then

p:=x*sqr(p(x,n div 2))

else

p:=x*sqqr(p(x,n div 2));

writeln(‘end  of p’)

end; {of function p}

begin

writeln(p(2.0,13))

end. {of program ret}
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